MULTI CHOICE QUESTIONS FOR THE WEBSITE FOR “ACCOUNTING 2”

Disk title A22MultiChoice

CHAPTER 4 – NOT-FOR-PROFIT ORGANISATIONS

4.1 Subscriptions received in the financial year to 31 December 2008 for the next year 2009, are recorded in the accounts as 

(a) Prepaid expense

(b) Accrued revenue

(c) Revenue received in advance √
(d) Accrued expense

4.2 The subscriptions in question 4.1 at 31 December 2008, are considered to be 

(a) In arrears at the start of the year

(b) In advance at the start of the year

(c) In arrears at the end of the year

(d) In advance at the end of the year  √
4.3 Why cannot the amount of cash received for the year be taken as the income figure for subscriptions?

(a) Accounts are prepared under the accrual system

(b) Arrears and advance at the start of the year must be considered

(c) Arrears and advance at the end of the year must be accounted for

(d) All of the above √
4.4 Credit sales for the bar can be reconstructed using the account for

(a) Accounts payable

(b) Accounts receivable √
(c) Inventories

(d) Bar sales

4.5 A receipts and payments account is similar to a 

(a) Profit and loss account

(b) Cash at bank account √
(c) A listing of assets and liabilities

(d) Bar trading account

4.6 Which item is not part of a bar trading account?

(a) Credit sales

(b) Replacing drinking glasses

(c) Electricity for the whole club area √
(d) Depreciation of bar refrigerators

4.7 Which item is not part of a statement of income and expenditure?

(a) Subscriptions receivable

(b) Purchase of furniture √
(c) Bar trading loss

(d) Club Manager’s salary

4.8 Income from bar sales is $52000 and the equivalent purchases are $21000. The bar manager’s wage is $22000 and $400 is accrued due not yet paid. Bar electricity is $3000, with opening stocks at $2000 and closing stocks at $2500. How much is the bar profit or loss?

(a) $ 6900 profit

(b) $ 6900 loss

(c) $ 6100 profit √
(d) $ 6100 loss

4.9 Accumulated funds are

(a) Member’s funds available to improve club amenities

(b) Club assets less liabilities

(c) Reserves for the benefit of members

(d) All of (a) to (c) √
4.10 Incorporation for a club or society means that

(a) All members can be sued and are liable

(b) The club can be sued as an association, protecting the member’s rights √
(c) There is no separate legal entity for the club

(d) The club cannot own property in its legal name
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